/7 E. North Street
Kokomo, IN 46901

ph: 763.436.3957
fax: 765.436.3960

FORD ADAPTER KIT 351M, 400, 429, 460, PART #980030

ENGINEERING

TRANSMISSIONS & CONVERTERS

List of Enclosed Parts:
(1) #980033 Aluminum Adapter Plate
(1) Crankshaft Adapter

(Specify #980031-1.375 pilot or #980032-1.848 pilot)
(3) .325 Spacers Flywheel to Converter
(6) 7/16-20 X 1 Flywheel Bolts
(6) 3/8 X 1 5/8 Transmission Mounting Studs
(6) 3/8 AN Washers
(6)
(4)
(2)

3/8-24 Hex Nuts
7/16-14 X 1 Flat Head Screws
7/16 to 5/8 Dowel Pins

Install flywheel on crank. Install crank adapter on top of flywheel and fasten with
flywheel bolts supplied.

If using a stock flywheel, it is best to use GM large bolt circle (11 1/2) mounting
for converter. Align converter on your stock flywheel and drill three converter bolt
holes.

If using an after market flywheel, most are drilled for 10 3/4” bolt circle
converters.

The crankshaft spacer may require modification to be used with an after market
flywheel, please contact us.

FOR TECHNICAL QUESTIONS, PLEASE FEEL FREE TO CALL (765) 456-3957

COA-980030
Page 1 of 1
09/10/2018

N

5A Winning Combination™



